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Flesch Ease of Reading test

1. Count the total number of sentences and words in the text.
2. Count the number of syllables in the text.

3. Calculate the average sentence length in words (the number of words divided by the number
of sentences).

4. Calculate the number of syllables per 100 words (the number of syllables divided by the
number of words multiplied by 100).

5. Calculate the reading ease score with the following formula.

6. Ease of reading = 206.835 - (0.846 times the number of syllables per 100 words) - (1.015
times average sentence length).

91-100 is Very Easy 51-60 is Fairly Difficult
81-90 is Easy 31-50 is Difficult
71-80 is Fairly Easy 0-30 is Very Difficult

61-70is Standard

ign text by Woods et al. (1998, 61), and interpretation of scores from Trapp et al. (1994, 103).
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Sources: Adapted for interpret

FOG test

1. Find the average number of words per sentence.
Find the percentage of words with three or more syllables (not counting endings such as -ing, -ed, -es).
. Add the results of steps one and two together and multiply this total by 0.4.
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. The result is the number of years of schooling needed to understand the material.

Source: Kool (1985, 33).
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